Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

ek "‘***‘1;5?EE42

Time: 3 hrs. M_,Max. Marks: 80

choosmg ONE full question from ea‘ch module
2. Missing data, if any, may be swtably assumed.
2\ Module-1 \
1 a With a neat schematlc\dlag\ram explam the workmg hydrl -electric power plant. (06 Marks)
b. Y4 (06 Marks)
C. (04 Marks)
2 a. What are the types of turbmes7 W th a neat dlagram explain the working of reaction turbine.
(06 Marks)
b. With a neat diagram explain the wonkmg of turbme governing. (06 Marks)
c. Mention the factors to be consider forthe seLectlon of site for hydro-electric power plant.
(04 Marks)
3 a. Withaschematic diagram (]ayout) «««« W rkmg of steam power plant. (06 Marks)
b. Explain any three methods used: er\the dlsposal of ash in steam power plant. (06 Marks)
c. Mention the advantages and dlsadv antages of diesel pQWCI‘ plant. (04 Marks)
4 a ine plants help in improvement
(08 Marks)
b. (08 Marks)
Module-3 ~
5 a. Withaneat dlagmm explam the working of main parts of nuclear reactor. (08 Marks)
b. What are the vlasmﬁcatlon of nuclear reactors? Explain the operation of fast breeder reactor.
\ 5 - 3 (08 Marks)
OR

6 a. Expla;rl the various methods of nuclear waste disposal. \-27(06 Marks)
b. Mention the advantages and disadvantages of nuclear power plant. “(0"6 Marks)

c. /“Mention the factors to be considered for the selection of site for nuclear power plant;
04, Marks)

Module-4

7 a. What is a protective relay? Explain its function in an electrical system. (06 Marks)
b. With a neat diagram explain the working of HRC (High Rupturing Capacity) fuse. (06 Marks)
c. Explain the working of rod gap arrester. (04 Marks)
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a.

b.

C.

a.

C.

OR

Draw the line diagram of 66/11 kV sub —station. (06 Marks)

With' a nedt;sketch explain ungrounded system in power system. (06 Marks)
‘ advantages of neutral — grounding. (04 Marks)
Module-5
ii) Demand factor
iii) Diversity factor “ K
iv) Plant capacxty factor\w S (08 Marks)

A power station is to supply three region of load whose peak loads are 20MW, 15MW and
25MW. The annual load fa@tor is 50% and the dlverS\!ty factor of the load at the station is
1.5. Determine the following :*

i) Maximum demand on the statlon

i) Installed capacity suggesting ‘nuriber of units

iii) Annual energy supplied. (08 Marks)
What is power factor? Explain any one. method»of improving power factor. (06 Marks)
A power station has to supply load as foﬂdw
Time (hours) 6 - 12
Load (MW) 90
i) Draw the load curve
ii) Draw load — duratlon cf‘rve
iii) Calculate the load@fasl,orz (06 Marks)
Define tariff. Explain®:
i) Block rate tariff,
p) (04 Marks)
* % ok ok
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